DUNCAN EXPORT MODEL‘ DA 1020-6G

REF
NO.

OROER PARTS FORM YOUR AUTHORIZED DUNCAN CERAMICS DISTRIBUTOR

BODY PARTS

DESCRIPTION

1020/29 BRICK LID (BANDED

& COATED) WITH VENT HOLE.
1020/29 CASE W/CLAMPS
1020/2% BRICK BOTTOM
1020/29 BASE PLATE

1020/29 STAND W/FEET

STAND FEET

820,1020/29 HEAT SHIELD

#8 X 1° SHEET METAL SCREW
EA 1020 CONTROL PANEL SHELL
UD VENT PLUG

PAL NUT

EA SWITCH KNOB

1020/29 UD SUPPORT

Hii PIVOT KT

#8 X 1/Z SHEET METAL SCREW
KILN-SITTER W/SAFETY TIMER
HANDLE

1020/29 RIGHT HINGE W/PIVOT
1020/29 LEFY HINGE W/PIVOT
UD SUPPORT MOUNTING KIT
1020/29 ELEMENT, 240V
1020/29 GROOVED BRICK
1020/29 PEEPHOLE BRICK
1020/29 HALF BRICK

1020/28 KILN-SITTER BRICK
1020/29 TERMINAL BRICK

1/8  STANDOFF

#6 X 1/2° SCREW

PEEPHOLE PLUGC

LD SUPPORT GUARD

SWITCH BRACKET

TEFLON SWITCH ACTUATOR KIT @

DUNCAN CERAMICS
P.0.80X 7609
FRESNO, CA 93747

KDCOES

0001908

1 YRONO




